### **KURUKSHETRA UNIVERSITY**

### **KURUKSHETRA**

Established by the state legislature Act-XII of 1956 ("A+" Grade,NAAC Accredited)



### **RESULT GAZETTEE**

**OF THE** 

BACHELOR OF COMMERCE SEM-02 EXAMINATION

**MAR-2024** 

**COPYRIGHT RESERVED** 

**PUBLISHED BY AUTHORITY** 

PRICE :RS.

(Including Postage)

#### **KURUKSHETRA UNIVERSITY KURUKSHETRA, HARYANA**

Result of each candidate is shown in the column of Result. Marks shown for Pass candidates and other Abbreviations are as below.

Abbreviation Stands For

'C' Compartment and to re-appear in the subject shown,till MAR- 2026 unless otherwise

Eligible/Stated.

'RLA' Result later for non-receipt of Awards form the Examiner or discrepancy therein.

'RL(UMC)' Result later for alleged use of Unfair Means.

RPFD Result provisional for want of dues mentioned against each.

'CC' Result is cancelled due to non-receipt of lower exam result/documents/s.

'RP' Result provisional for settlement of Improvment of Marks / Division.

'RPR'
'PID'
Result later due to Discrepancy in marks or any other dispute.

'RLD' Result later due to Discrepancy in marks or any o'
'ML' Marks later due to DIVISION.

Other Contents.

1. List of Candidates.

2. Pass percent.

3. Merit list.

#### **IMPORTANT NOTES**

- THIS RESULT GAZETTE MUST BE READ ALONGWITH "ADDENDA AND CORRIGEND. SUPPLEMENTARY LIST/S
  AND THE NOTIFICATION/S IN PARTIAL SUPERSESSION OF THE RESULT DECLARED IN THE GAZETTE, IF ANY.
- 2. College candidates will receive their Detailed-Marks-Cards (DMC) through the Principal of their Institutions. In case of non-receipt candidates should write through Principal not direct.
- 3. All private candidates will receive the DMC within ten days from the date of declaration of the result. If any candidate does not receive the same within fortnight of the declaration of the result or any result remains 'RL' the candidate should write to Asst/dy. Registrar Tell. No. 238582 and EPABX- 2461.
- 4. No Application for original Detailed-Marks-Card/Certificates will be entertained after a period of three months from the date of declaration of result.
- 5. All enquiries regarding result should be addressed to Dy/Asst. Registrar (Exam-I) KU Kurukshetra.
- 6. Re-evaluation of Answer-book(s) in Theory paper(s) is permissible within 20 days of the date of publication of result or 15 days of dispatch of DMC by the University, whichever is later, on submission of Application form which can be had from the Manager, Printing and Publications KURUKSHETRA UNIVERSITY, KURUKSHETRA on payment of Rs. 10/- at the counter or by remitting Rs. 30/-, if required by Regd. Post. It must be accompanied by Original DMC and Re-evaluation fee of Rs. 300/- per paper. The application should be addressed to Asst. Registrar (Re-evaluation) Kurukshetra University, Kurukshetra 136119, Telephone No. 2455 (University EPABX Exchange).
- 7. Examination Admission form can be had from the registered book-sellers of all the towns on the payments of Rs. 10/- per form or from the Manager, Printing and Publications Kurukshetra University, Kurukshetra 136119 on remittance of Rs. 35/- (including Postage) per admission form.
- 8. University shall not be responsible for delay or misplacement of DMC's sent through UPC / Registered Post.
- 9. Only latest Examination Admission form which costs Rs. 10/- will be accepted, otherwise Fee & late fees will be charged.
- 10. Late fees will not be charged, if the Admission Form is submitted within 25 days from the date of declaration of result or within 15 days from date of dispatch of DMC whichever is later.

Date: 28-02-2025

0023255030 23-DEO-330

Roll no.

Regn No.

Name

### KURUKSHETRA UNIVERSITY KURUKSHETRA, HARYANA

Result

ABS

RESULT GAZZETE OF BACHELOR OF COMMERCE SEM-02 EXAM - MAR- 2024

BRANCH 43 (CBCS-CDOE)

Father's name

Roll 110.	rtegii itoi	Name	adici 3 name	Result	
	5501	CENTRE FOR DISTANCE & ON	LINE EDUCATION KURUKS	HETRA	
0023255001	23-DEO-301	AISHA SAKHIZADA	0	ABS	
0023255002	23-DEO-302	MONIR MOHMAND	0	ABS	
0023255003	23-DEO-303	SWEETA RAHMANI	0	ABS	
0023255004	23-DEO-304	ZAMIMA AYAR MUJADIDI	0	ABS	
0023255005	23-DEO-305	AEFEE MAHOPERA MHANGO	0	ABS	
0023255006	23-DEO-306	COLLINS MAKINA	EVALISTO MAKINA	ABS	
0023255007	23-DEO-307	PATSON DAKA	PATSON DAKA	0515/0600 SGPA	9.67
0023255008	23-DEO-308	REMMY KALUNGA	CHIBUYE KALUNGA	ABS	
0023255009	23-DEO-309	SOFIA SERGIO	0	ABS	
0023255010	23-DEO-310	ZULAIHAT ABDULLAHI IBRAH	IMABDULLAHI IBRAHIM	ABS	
0023255012	23-DEO-312	SARTHAK JINDAL	VIKAS JINDAL	ABS	
0023255013	23-DEO-313	RAVINDER KUMAR	DHANPAL	ABS	
0023255014	23-DEO-314	KOMAL GOYAL	DINESH GOYAL	0412/0600 SGPA	8.00
0023255015	23-DEO-315	AKUL NAGPAL	AJAY NAGPAL	ABS	
0023255016	23-DEO-316	ROHIT NA	RAMESH KUMAR	0314/0600 SGPA	6.25
0023255017	23-DEO-317	HEMANT KUMAR	BALVINDER SINGH	0436/0600 SGPA	8.25
0023255018	23-DEO-318	VIPIN KUMAR	SUSHIL KUMAR	0429/0600 SGPA	8.04
0023255019	23-DEO-319	LALITA BEHRA	LAXMIDHAR BEHERA	ABS	
0023255020	23-DEO-320	KUSUM DEVI	RANVIR SINGH	ABS	
0023255021	23-DEO-321	IMTIYAZ KHAN KHAN	FAIYAZ	ABS	
0023255022	23-DEO-322	LAVISH H	HARISH KUMAR	ABS	
0023255023	23-DEO-323	ANUBHAV BANSAL	AJAY BANSAL	0522/0600 SGPA	9.67
0023255024	23-DEO-324	BOBIN DESWAL	KANWAR PAL	0513/0600 SGPA	9.67
0023255025	23-DEO-325	CHANDRA SEKHAR VIJYAPUR	Pujagannadha Rao	ABS	
0023255026	23-DEO-326	KIRAT SINGH	BALJEET SINGH	ABS	
0023255027	23-DEO-327	GARIMA G	OMPARKASH	0417/0600 SGPA	8.13
0023255028	23-DEO-328	BHAVAY BHAVAY	SANJEEV KUMAR	ABS	
0023255029	23-DEO-329	ANCHAL KAUR	BALDEV SINGH	ABS	
ı					

SHUBHAM GARG

KURUKSHETRA UNIV Dr.ANKESHWAR PRAKASH
CONTROLLER OF EXAMS

SUSHIL GARG

Regn. No.

Roll No. 23255007

23-DEO-307

### RESULT-cum-DETAILED MARKS CARD BACHELOR OF COMMERCE SEM-02 EXAM: MAR-2024

(CBCS-CDOE)

Name : PATSON DAKA : PATSON DAKA Father's Name : JOSEPHINE DAKA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-COM-201 COMPUTERIZED ACCOUNTING SYSTEM	59 30	40AG	100	0	10	04.0	40.0
2	B23-COM-202 COMPANY LAW	50 29	40AG	100	A+	9	04.0	36.0
3	B23-COM-203 PRINCIPLES OF MARKETING	58 29	40AG	100	0	10	04.0	40.0
4	B23-COM-204 BUSINESS MATHEMATICS-II	20 15	20AG	050	А	8	02.0	16.0
5	B23-VAC-201 ENVIRONMENTAL STUDIES	32 15	20AG	050	0	10	02.0	20.0
6	B23-SEC-207 SOFT SKILLS	41 25	30AG	075	0	10	03.0	30.0
7	B23-AEC-211 ENGLISH LANGUAGE AND COMMUNICATION LEVEL 2	28 15	20AG	050	0	10	02.0	20.0
8	B23-BCH-204 BIOCHEMISTRY & HEALTH	46 23	30AG	075	0	10	03.0	30.0
	TOTAL	0515		0600			24.0	232.0
	GRAND TOTAL	0515		0600				

PASSED AND HAS OBTAINED: RESULT: SGPA 9.67

		(Clerk)		(Assistant)	
Checked by	1		2		_
KURUKSHET	ERA				
DATED:	FEB 28,20	25			



Regn. No.

Roll No. 23255014

23-DEO-314

### RESULT-cum-DETAILED MARKS CARD

### BACHELOR OF COMMERCE SEM-02 EXAM: MAR-2024 (CBCS-CDOE)

Name : KOMAL GOYAL : DINESH GOYAL Father's Name

: SAVITA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-COM-201 COMPUTERIZED ACCOUNTING SYSTEM	44 23	40AG	100	А	8	04.0	32.0
2	B23-COM-202 COMPANY LAW	39 23	40AG	100	B+	7	04.0	28.0
3	B23-COM-203 PRINCIPLES OF MARKETING	44 23	40AG	100	А	8	04.0	32.0
4	B23-COM-204 BUSINESS MATHEMATICS-II	26 12	20AG	050	A+	9	02.0	18.0
5	B23-VAC-201 ENVIRONMENTAL STUDIES	27 11	20AG	050	A+	9	02.0	18.0
6	B23-SEC-207 SOFT SKILLS	37 18	30AG	075	А	8	03.0	24.0
7	B23-AEC-211 ENGLISH LANGUAGE AND COMMUNICATION LEVEL 2	24 12	20AG	050	А	8	02.0	16.0
8	B23-BCH-204 BIOCHEMISTRY & HEALTH	33 16	30AG	075	А	8	03.0	24.0
	TOTAL	0412		0600			24.0	192.0
	GRAND TOTAL	0412		0600				

PASSED AND HAS OBTAINED: RESULT: SGPA 8.00

DATED:	FEB 28,2025	
KLIBLIKSHE	TERΔ	

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 23255016

## RESULT-cum-DETAILED MARKS CARD

23-DEO-316 Regn. No.

BACHELOR OF COMMERCE SEM-02 EXAM: MAR-2024 (CBCS-CDOE)

Name : ROHIT NA

: RAMESH KUMAR Father's Name : JASHODA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-COM-201 COMPUTERIZED ACCOUNTING SYSTEM	55 AB	40AG	100	B+	7	04.0	28.0
2	B23-COM-202 COMPANY LAW	46 AB	40AG	100	С	5	04.0	20.0
3	B23-COM-203 PRINCIPLES OF MARKETING	45 AB	40AG	100	С	5	04.0	20.0
4	B23-COM-204 BUSINESS MATHEMATICS-II	27 AB	20AG	050	В	6	02.0	12.0
5	B23-VAC-201 ENVIRONMENTAL STUDIES	28 AB	20AG	050	B+	7	02.0	14.0
6	B23-SEC-207 SOFT SKILLS	41 AB	30AG	075	B+	7	03.0	21.0
7	B23-AEC-211 ENGLISH LANGUAGE AND COMMUNICATION LEVEL 2	30 AB	20AG	050	B+	7	02.0	14.0
8	B23-BCH-204 BIOCHEMISTRY & HEALTH	42 AB	30AG	075	B+	7	03.0	21.0
	TOTAL	0314		0600			24.0	150.0
	GRAND TOTAL	0314		0600				

PASSED AND HAS OBTAINED: RESULT: SGPA 6.25

DATED :	FEB 28,2025	
KLIDLIKCHE	TEDA	

Checked by 1.

(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Regn. No.

Roll No. 23255017

23-DEO-317

# RESULT-cum-DETAILED MARKS CARD BACHELOR OF COMMERCE SEM-02 EXAM: MAR- 2024

(CBCS-CDOE)

Name : HEMANT KUMAR
Father's Name : BALVINDER SINGH
Mother's Name : MAMTA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-COM-201 COMPUTERIZED ACCOUNTING SYSTEM	51 21	40AG	100	А	8	04.0	32.0
2	B23-COM-202 COMPANY LAW	42 20	40AG	100	B+	7	04.0	28.0
3	B23-COM-203 PRINCIPLES OF MARKETING	52 18	40AG	100	А	8	04.0	32.0
4	B23-COM-204 BUSINESS MATHEMATICS-II	31 9	20AG	050	A+	9	02.0	18.0
5	B23-VAC-201 ENVIRONMENTAL STUDIES	29 10	20AG	050	A+	9	02.0	18.0
6	B23-SEC-207 SOFT SKILLS	39 20	30AG	075	A+	9	03.0	27.0
7	B23-AEC-211 ENGLISH LANGUAGE AND COMMUNICATION LEVEL 2	27 9	20AG	050	А	8	02.0	16.0
8	B23-BCH-204 BIOCHEMISTRY & HEALTH	42 16	30AG	075	A+	9	03.0	27.0
	TOTAL	0436		0600			24.0	198.0
	GRAND TOTAL	0436		0600				

RESULT: PASSED AND HAS OBTAINED: SGPA 8.25

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED:	FEB 28,20	25			



Roll No. 23255018

Regn. No. 23-DEO-318

### RESULT-cum-DETAILED MARKS CARD

## BACHELOR OF COMMERCE SEM-02 EXAM: MAR- 2024 (CBCS-CDOE)

Name : VIPIN KUMAR
Father's Name : SUSHIL KUMAR

Mother's Name : ANITA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-COM-201 COMPUTERIZED ACCOUNTING SYSTEM	49 29	40AG	100	A+	9	04.0	36.0
2	B23-COM-202 COMPANY LAW	39 23	40AG	100	B+	7	04.0	28.0
3	B23-COM-203 PRINCIPLES OF MARKETING	45 29	40AG	100	А	8	04.0	32.0
4	B23-COM-204 BUSINESS MATHEMATICS-II	21 14	20AG	050	А	8	02.0	16.0
5	B23-VAC-201 ENVIRONMENTAL STUDIES	27 11	20AG	050	A+	9	02.0	18.0
6	B23-SEC-207 SOFT SKILLS	38 25	30AG	075	A+	9	03.0	27.0
7	B23-AEC-211 ENGLISH LANGUAGE AND COMMUNICATION LEVEL 2	25 14	20AG	050	A+	9	02.0	18.0
8	B23-BCH-204 BIOCHEMISTRY & HEALTH	40 AB	30AG	075	В	6	03.0	18.0
	TOTAL	0429		0600			24.0	193.0
	GRAND TOTAL	0429		0600				

RESULT: PASSED AND HAS OBTAINED: SGPA 8.04

		(Cle	erk)		(Assistant)
Checked by	1.			2	
KURUKSHET	ERA				
DATED:	FEB 28,2	2025			



Regn. No.

Roll No. 23255023

23-DEO-323

# RESULT-cum-DETAILED MARKS CARD BACHELOR OF COMMERCE SEM-02 EXAM: MAR- 2024

(CBCS-CDOE)

Name : ANUBHAV BANSAL

Father's Name : AJAY BANSAL Mother's Name : RADHA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-COM-201 COMPUTERIZED ACCOUNTING SYSTEM	58 29	40AG	100	0	10	04.0	40.0
2	B23-COM-202 COMPANY LAW	53 29	40AG	100	A+	9	04.0	36.0
3	B23-COM-203 PRINCIPLES OF MARKETING	64 21	40AG	100	0	10	04.0	40.0
4	B23-COM-204 BUSINESS MATHEMATICS-II	28 14	20AG	050	A+	9	02.0	18.0
5	B23-VAC-201 ENVIRONMENTAL STUDIES	29 13	20AG	050	A+	9	02.0	18.0
6	B23-SEC-207 SOFT SKILLS	43 25	30AG	075	О	10	03.0	30.0
7	B23-AEC-211 ENGLISH LANGUAGE AND COMMUNICATION LEVEL 2	30 14	20AG	050	О	10	02.0	20.0
8	B23-BCH-204 BIOCHEMISTRY & HEALTH	49 23	30AG	075	0	10	03.0	30.0
	TOTAL	0522		0600			24.0	232.0
	GRAND TOTAL	0522		0600				

RESULT: PASSED AND HAS OBTAINED: SGPA 9.67

		(Cle	erk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	FEB 28,2	2025				



	CONTROL	LER OF	EXAMIN	IATIONS
--	---------	--------	--------	---------

Regn. No.

Roll No. 23255024

23-DEO-324

### RESULT-cum-DETAILED MARKS CARD

## BACHELOR OF COMMERCE SEM-02 EXAM: MAR- 2024 (CBCS-CDOE)

Name : BOBIN DESWAL
Father's Name : KANWAR PAL
Mother's Name : SARLA KUMARI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-COM-201 COMPUTERIZED ACCOUNTING SYSTEM	47 30	40AG	100	A+	9	04.0	36.0
2	B23-COM-202 COMPANY LAW	53 28	40AG	100	A+	9	04.0	36.0
3	B23-COM-203 PRINCIPLES OF MARKETING	59 27	40AG	100	0	10	04.0	40.0
4	B23-COM-204 BUSINESS MATHEMATICS-II	29 14	20AG	050	0	10	02.0	20.0
5	B23-VAC-201 ENVIRONMENTAL STUDIES	31 15	20AG	050	0	10	02.0	20.0
6	B23-SEC-207 SOFT SKILLS	41 24	30AG	075	О	10	03.0	30.0
7	B23-AEC-211 ENGLISH LANGUAGE AND COMMUNICATION LEVEL 2	30 14	20AG	050	О	10	02.0	20.0
8	B23-BCH-204 BIOCHEMISTRY & HEALTH	48 23	30AG	075	0	10	03.0	30.0
	TOTAL	0513		0600			24.0	232.0
	GRAND TOTAL	0513		0600				

RESULT: PASSED AND HAS OBTAINED: SGPA 9.67

		(Clerk)	 }	(Assistant)	1
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	FEB 28,20	025			



Roll No. 23255027

## RESULT-cum-DETAILED MARKS CARD

Regn. No. 23-DEO-327

BACHELOR OF COMMERCE SEM-02 EXAM: MAR- 2024 (CBCS-CDOE)

Name : GARIMA G
Father's Name : OMPARKASH
Mother's Name : SAROJ

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	B23-COM-201 COMPUTERIZED ACCOUNTING SYSTEM	52 AB	40AG	100	В	6	04.0	24.0
2	B23-COM-202 COMPANY LAW	58 1	40AG	100	B+	7	04.0	28.0
3	B23-COM-203 PRINCIPLES OF MARKETING	51 26	40AG	100	A+	9	04.0	36.0
4	B23-COM-204 BUSINESS MATHEMATICS-II	23 13	20AG	050	А	8	02.0	16.0
5	B23-VAC-201 ENVIRONMENTAL STUDIES	32 11	20AG	050	0	10	02.0	20.0
6	B23-SEC-207 SOFT SKILLS	42 23	30AG	075	О	10	03.0	30.0
7	B23-AEC-211 ENGLISH LANGUAGE AND COMMUNICATION LEVEL 2	30 14	20AG	050	О	10	02.0	20.0
8	B23-BCH-204 BIOCHEMISTRY & HEALTH	41 AB	30AG	075	B+	7	03.0	21.0
	TOTAL	0417		0600			24.0	195.0
	GRAND TOTAL	0417		0600				

RESULT: PASSED AND HAS OBTAINED: SGPA 8.13

DATED:	FEB 28,2025			
KURUKSHET	ERA			
Checked by	1.		_ 2	
		(Clerk)		(Assistant)

Data of issue

Bann

CONTROLLER OF EXAMINATIONS